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$QDOLVLV�3HQJHQGDOLDQ�,QWHUQDO 3HUVHGLDDQ�%DUDQJ�'DJDQJ�SDGD�8VDKD�
'DJDQJ�$QHND�3RVWHU

2OHK���5DKPL�+LGD\DWXOODLOL

3HPELPELQJ�7XJDV�$NKLU���+HQUL�$JXVWLQ��6�(��0�6F��$N

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQMHODVNDQ� VLVWHP� SHQJHQGDOLDQ� LQWHUQDO�

SHUVHGLDDQ� EDUDQJ� GDJDQJ� SDGD� 8VDKD� 'DJDQJ� $QHND� 3RVWHU� VHUWD� NHQGDOD�

NHQGDOD�\DQJ� WHUMDGL�GDODP�SURVHV�SHQJHORODDQQ\D��3HQHOLWLDQ�GLODNXNDQ�GL� -DODQ

3DVDU 5D\D�,,�1R� ���$��.S��-DR .RWD�3DGDQJ��

3HQHOLWLDQ� LQL� PHUXSDNDQ� SHQHOLWLDQ� GHVNULSWLI� GHQJDQ� PHQMHODVNDQ� GDQ�

PHQMDEDUNDQ� PHQJHQDL SHQJHQGDOLDQ� LQWHUQDO� SHUVHGLDDQ� EDUDQJ� GDJDQJ� SDGD�

8VDKD�'DJDQJ�$QHND�3RVWHU��'DODP�SHQHOLWLDQ�LQL�SHQXOLV�MXJD�PHPDSDUNDQ�GDWD�

PHQJHQDL�SHQJHQGDOLDQ�LQWHUQDO�SHUVHGLDDQ�EDUDQJ�GDJDQJ�8VDKD�'DJDQJ�$QHND�

3RVWHU�

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ�� 3HQJHQGDOLDQ� ,QWHUQDO� 3HUVHGLDDQ� %DUDQJ�

'DJDQJ� SDGD�8VDKD�'DJDQJ�$QHND�3RVWHU EHOXP�EHUMDODQ� GHQJDQ� EDLN��+DO� LQL�

GLVHEDENDQ�ROHK�DGDQ\D�EHEHUDSD�NHQGDOD�GDQ�EHEHUDSD�IDNWRU�GDODP�SHQJHORODDQ�

\DQJ�GLODNXNDQ�ROHK�8VDKD�'DJDQJ�$QHND�3RVWHU

.DWD�NXQFL���DQDOLVLV�SHQJHQGDOLDQ�LQWHUQDO�SHUVHGLDDQ�EDUDQJ�GDJDQJ


